
ApplicazioniÊKCL:
->ÊEsempioÊ1:ÊÊselezioneÊdiÊalcuneÊaree:

->ÊEsempioÊ2:ÊcorrenteÊdiÊsegnoÊopposto

1.1P)ᩜᩞᩝ᩟᩠Bipoli e leggi fondamentali:

PartitoreÊdiÊtensione:
->ÊDatiÊdueÊresistoriÊR_AÊedÊR_3ÊconnessiÊinÊserieÊeÊsottopostiÊadÊunaÊtensioneÊtotaleÊV_tot,ÊleÊtensioniÊsuiÊsingoliÊresistoriÊsiÊ
possonoÊcalcolareÊconÊleÊseguentiÊformule:Ê

PartitoreÊdiÊcorrente:
->ÊDatoÊunÊparalleloÊdiÊdueÊresistoriÊR_AÊedÊR_BÊattraversatoÊdaÊunaÊcorrenteÊtotaleÊIm,ÊleÊcorrentiÊparzialiÊneiÊdueÊramiÊvalgonoÊ
rispettivamente:

->ÊInoltreÊvaleÊche:



PrincipioÊdiÊsovrapposizioneÊdegliÊeffetti:
->ÊHp:ÊsiÊpuòÊapplicareÊsoloÊaÊretiÊlineari,ÊovveroÊretiÊinÊcuiÊlaÊcaratteristicaÊingresso-uscitaÊèÊrettilineaÊ(tuttiÊiÊbipoliÊdevonoÊessereÊ
contraddistintiÊdaÊun'equazioneÊcaratteristicaÊlineare).
->ÊDEF:ÊciascunaÊgrandezzaÊelettricaÊfondamentaleÊpuòÊessereÊottenutaÊsommandoÊalgebricamenteÊiÊcontributiÊcausatiÊdalleÊ
azioniÊelettricheÊ(effetti)ÊdeiÊsingoliÊgeneratori,ÊpresiÊunoÊallaÊvolta,ÊconsiderandoÊtuttiÊgliÊaltriÊgeneratoriÊ"spendi"Ê(sostituendoliÊ
conÊilÊcorrispondenteÊcircuitoÊpassivo)

𝑥௏,ூ = ∑ ℎ௞ ∗ 𝐸௞ + ∑ 𝑙௝𝐴௝௝௞ ;
Algoritmo:

ScelgoÊunÊgeneratoreÊdaÊmantenereÊattivoÊeÊpassivoÊtuttiÊgliÊaltri;1.
MiÊcalcoloÊleÊgrandezzeÊelettricheÊfondamentaliÊrichieste;2.
RipetoÊiÊpassiÊ1ÊeÊ2ÊperÊtuttiÊiÊgeneratori;3.
UnaÊvoltaÊcalcolateÊleÊgrandezzeÊelettricheÊfondamentaliÊdiÊmioÊinteresseÊinÊtuttiÊiÊcasi,ÊperÊcalcolarmiÊunaÊsingolaÊ
grandezza,ÊsommoÊiÊvaloriÊcheÊassumeÊinÊogniÊcasoÊprecedentementeÊcalcolato:

4.

𝑉஺ = 𝑉஺
ᇱ + 𝑉஺

ᇱᇱ + 𝑉஺
ᇱᇱᇱ +⋯+ 𝑉஺

௡ , 𝑐𝑜𝑛 𝑛 𝑛𝑢𝑚𝑒𝑟𝑜 𝑑𝑖 𝑔𝑒𝑛𝑒𝑟𝑎𝑡𝑜𝑟𝑖 𝑑𝑒𝑙 𝑐𝑖𝑟𝑐𝑢𝑖𝑡𝑜 ;

.NONÊconvieneÊutilizzareÊilÊPSEÊconÊretiÊcheÊpresentanoÊunÊnumeroÊdiÊgeneratoriÊsopraÊ3ݝݜݛݚ
Esempio:

SommaÊalgebricaÊsignificaÊsommaÊdeiÊݝݜݛݚ
parametriÊpresiÊconÊrelativoÊsegnoÊdiÊverso.

->ÊScriviamoÊiÊdueÊproblemi:
CircuitoÊ(‘):1. CircuitoÊ(‘’):2.

1.2P)ᩜᩞᩝ᩟᩠Bipoli e leggi fondamentali:


